Foreign Direct Investment Theory and Strategy

· Foreign Direct Investment - The International Monetary Fund (IMF) defines foreign direct investment (FDI) as a category of international investment where a resident in one economy (the direct investor) obtains a lasting interest in an enterprise resident in another economy (the direct investment enterprise).  (IMF, 1993)  

· Two parts of this definition are important to note:

1. The “lasting interest” implies the existence of a long-term relationship between the direct investor and the direct investment enterprise, 

2. The “direct investment” implies the acquisition of at least 10 percent of the ordinary shares or voting power of an enterprise abroad.  

· Foreign Direct Investor - an individual, an incorporated or unincorporated public or private enterprise, a government, a group of related individuals, or a group of related incorporated and/or unincorporated enterprises which has a direct investment enterprise – that is, a subsidiary, associate or branch – operating in a country other than the country or countries of residence of the foreign direct investor or investors. (OCED, 1996)

Common Misconceptions: (IMF, 2003)
· FDI does not necessarily imply control of the enterprise since only a 10 percent ownership is required to establish a direct investment relationship.   
· FDI involves only one investor or a “related group” of investors.  
· FDI is not based on the nationality or citizenship of the direct investor; it is based on the investor’s residency.  
· Lending from unrelated parties abroad that are guaranteed by direct investors is not FDI. 
FDI represents a large part of the increasing and all-encompassing trend towards globalization.  

Q: Compared to domestic firms in what ways are MNE’s better able to exploit competitive advantages? 

A:

Economies of scale 

Managerial and technological expertise

Product differentiation

Financial strength

The Theory of Absolute Advantage (Adam Smith)

The country that produces the largest amount of a product for a given amount of resources has the absolute advantage in that product.  This is intuitive when each country has an absolute advantage in different products, since if countries specialize they can both have more.

In the figure below Sri Lanka has an absolute advantage in tea while the United States has an absolute advantage in wheat.

Figure 1: Absolute Advantage

	Resources
	Sri Lanka
	U.S.
	Total output

	
	Tea
	Wheat
	Tea
	Wheat
	

	100% tea
	25
	0
	5
	0
	30 / 0

	50/50
	12.5
	5
	2.5
	10
	15 / 15

	100% wheat
	0
	10
	0
	20
	0 / 30


Notice that without specialization if each country splits its resources equally, the total output will be 15 units of tea and 15 units of wheat.  But if each country specializes, they can trade for a total of 25 units of tea and 20 units of wheat.

Q: What are the components of “one unit of production”?

A:


It is a mix of the factors of production (land, labor, capital and technology)

The Theory of Comparative Advantage
 (David Ricardo, 1817)
Counter-intuitive, this theory explains why it can be beneficial for two countries to trade, even when one country might be able to produce more of both products.

Figure 2: Life without trade

	U.S.
	Brazil

	Coffee
	Wheat
	Coffee
	Wheat

	0
	30
	0
	10

	15
	15
	10
	5

	30
	0
	20
	0


For example, suppose the U.S. can produce 30 units of wheat or 30 units of coffee (but not both) and Brazil can only have 20 units of coffee or 10 units of wheat (but not both).

Q: What is the total output (without specialization) if each country splits its resources equally?

Q: What is the total output if each country specializes?

In this world, the U.S. is better at producing both coffee and wheat, but Brazil has a comparative advantage in coffee.  Notice that if Brazil wants 1 more unit of coffee it only “costs” Brazil 0.5 of a unit of wheat, while in the U.S., 1 more unit of coffee “costs” the U.S. 1 unit of wheat.  Additionally, when the U.S. produces 1 unit of wheat it must give up 1 unit of coffee, but when Brazil produces 1 unit of wheat it must give up 2 units of coffee. 

To see this mathematically look at the slope of the production possibility curves:
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*The country whose production possibility curve has the steepest slope has the comparative advantage in the good on the vertical axis.  (Conversely, the country whose production possibility curve has the flatter slope has the comparative advantage in the good on the horizontal axis.)

Figure 3: Production Possibility Curves
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The slopes of the production possibilities curves also denote the range for the terms of trade.  In order to benefit both countries the terms of trade must lie between:  

“1 unit of wheat in exchange for 1 unit of coffee” and “1 unit of wheat for 2 units of coffee”

Example:  

Suppose the U.S. and Brazil agree to the following trade deal: 

“1 unit of wheat for 1.5 units of coffee”

Figure 4: Potential Gains from International Trade

	
	Production

before trade
	Production

after trade
	Export (-)

Import (+)
	Consumption

After trade
	Gains from

trade

	U.S.
	18 wheat

12 coffee
	30 wheat

0 coffee
	-10  wheat

+15 coffee
	20 wheat

15 coffee
	2 wheat

3 coffee

	Brazil
	8 wheat

4 coffee
	0 wheat

20 coffee
	+10 wheat

-15 coffee
	10 wheat

5 coffee
	2 wheat

1 coffee


Q: What are the benefits of international trade?

A: 
1. Specialization


2. Lower prices


3. Economies of scale


4. Increased competition.

The bottom line: 1) Fully employ all resources worldwide, 2) allocate those resources within countries to each country’s industry of comparative advantage, and 3) allow countries to trade freely.

The “Law of One Price” states that a product sold in two different markets should be the same price.   If 1) the products are identical and 2) there are no frictions (i.e. transportation costs or government restrictions).
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Example 

Suppose in the U.S. apples are selling for $3.30 per bushel and in Japan apples are selling for ¥500 per bushel.  If the current exchange rate is ¥100/$ then the price of an apple is $5.00 in Japan.  If there are no transportation costs, U.S. producers would prefer to sell apples in Japan.  As this happens the supply of apples in the U.S. will fall and the price will rise in the U.S.  The opposite will happen in Japan, as the supply of apples increases in Japan the price of apples will fall.

Figure 5: Supply and Demand for Apples in the U.S. and Japan

Before Trade
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	After Trade
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Suppose given each country’s factors or production (land, labor, and capital) the following production possibilities exist between the U.S. and Brazil.
	U.S.
	Brazil

	Beef
	Cotton
	Beef
	Cotton

	20,000
	0
	1,000
	0

	10,000
	15,000
	500
	18,000

	0
	30,000
	0
	36,000


Q: Assume that the average Brazilian begins to favor more beef in their diet, which of the following trade offers would be acceptable to both Brazil and the U.S.?

a. 40 bales of cotton for 1 ton of beef

b. 30 bales of cotton for 1 ton of beef

c. 2 bales of cotton for 1 ton of beef

d. Both choices “b” and “c” would be acceptable

A: Choice “d” is correct. For a trade to be mutually beneficial, the opportunity cost, measured by the slope of beef to cotton, must lie between 1/1.5 (U.S.) and 1/36 (Brazil). 

The production possibilities of Country A and Country B are given below, based on the assumptions of maximum output for either computers or wine in each country.

	Country A
	Country B

	Computers
	Wine
	Computers
	Wine

	30
	0
	10
	0

	0
	3,000
	0
	2,000


Q: Which of the following statements is correct?

a. Country A has an absolute advantage in producing computers but not wine.

b. Country A has an absolute advantage in both computers and wine.

c. Country B has an absolute advantage in producing wine but not computers.

d. Country B has an absolute advantage in producing both wine and computers.

A: Choice “b” is correct. A country has an absolute advantage in producing a good, if it can produce more of the good during a given period of time.  If all the resources are used to produce only one good or the other, Country A can produce 30 computers compared to 10 computers for Country B, or Country A can produce 3,000 liters of wine compared to 2,000 liters of wine for country B. Country A has an absolute advantage in producing both computers and wine.

Q: Given the above information which of the following trades would be mutually beneficial for Country A and Country B.

I. 3 Country A computers for 900 liters of Country B wine.

II. 5 Country A computers for 1,200 liters of Country B wine.

III. 6 Country A computers for 1,100 liters of Country B wine.

a. I only.

b. II only.

c. III only.

d. I and II only.

A: Choice “c” is correct. For a trade to be mutually beneficial, the opportunity cost, measured by the slope of computers to wine, must lie between 1/100 (Country A) and 1/200 (Country B). Dividing 6 by 1,1000 gives 1/183.33 (which is mutually beneficial).  Note: dividing 3/900 is 1/300 and 5/1200 is 1/240, both of which lie outside of the parameters.
Q: What are the assumptions of the theory of comparative advantage? 

A: 

Free trade, perfect competition, no uncertainty, costless information, and no government interference. 

Limitations of Comparative Advantage:

· Government interference – full employment, economic development, national self-sufficiency in defense-related industries, and protection of an agricultural sector’s way of life.

· Capital and technology flow directly between countries (rather than indirectly through goods and services).

· Modern factors of production include: local and managerial skills, a dependable legal structure for settling contract disputes, research and development competence, educational levels of available workers, energy resources, consumer demand for brand name goods, mineral and raw material availability, access to capital, tax differentials, supporting infrastructure.

· Terms of trade are determined in part by administered pricing in oligopolistic markets (rather than by supply and demand).

· Comparative advantage shifts over time.

· Additional issues: 

· the effect of uncertainty and information costs

· the role of differentiated products in imperfectly competitive markets

· economies of scale

Remember it takes a relative advantage in costs, not just an absolute advantage to create a comparative advantage.

Example

India’s Software Industry: (call centers, custom software, and other IT services)

· Highly efficient

· Low cost

Motivations for becoming an MNE: (these motivations are not mutually exclusive)

· To find new markets 

· To extract raw materials (i.e. oil, mining, plantation, and forest)

· To seek under-priced factors of production (i.e. labor)

· To gain access to technology or managerial expertise

· To enter politically safe markets

Note: To successfully invest abroad, a firm must have a sustainable competitive advantage (one that is firm-specific, transferable, and powerful enough to overcome the potential disadvantages of operating abroad).

Q: What are the potential disadvantages of operating abroad?

A:

Foreign exchange risk

Political risks

Increased agency costs

Competitive Advantages of an MNE:

· Economies of Scale and Scope

· Production economies (i.e. large scale plant and equipment or rationalized production)

· Example: Ford produces engines in one country, transmissions in another, and bodies in another, and assembles the parts somewhere else.

· Marketing economies (i.e. worldwide brand identification, worldwide distribution warehousing, and service systems)

· Financial economies (i.e. global cost and availability of capital)

· R & D economies 

· Transportation economies

· Purchasing economies (i.e. quantity discounts and market power)

· Managerial and Marketing Expertise

· Prior experience in foreign markets

· Advanced technology

· Scientific and engineering skills

· Financial Strength

· Global cost and availability of capital

· Differentiated Products

· MNE’s have the capital for innovation (R&D and marketing expenditures)

Porter’s Diamond of National Advantage
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A strong home market can sharpen a firm’s competitive advantage abroad.

OLI Paradigm

“O” Owner-specific

“L” Location-specific

“I” Internationalization
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Entry Modes

· Exporting

· Licensing

· Joint Venture

· Wholly Owned Subsidiary

· Greenfield Investment

· Acquisition

· Strategic Alliance

Questions
Chapter 15 Problems 1 – 5.

Final Project

10% Proposal 

20% Presentation


-exceeds 20 minutes minus 5 points


-professionalism – 20 points



(no typos, well dressed, well prepared, well spoken)


-question & answers – 5 points


-content 70 points



(10 points companies & background)



(10 points explanation of opportunity)



(20 points Macro Economic Report of the economy)



(10 points forecast exchange rates)



(20 points summarize risks & how you will overcome them)

70% Written Report


-exceeds 15 pages minus 5 points


-professionalism – 20 points



(no typos, etc.)


-content – 75 points



(10 points companies & background)



(10 points explanation of opportunity)



(10 points Macro Economic Report of the economy)



(10 points forecast exchange rates)



(20 points summarize risks & how you will overcome them)



(15 points for connections to the material we have covered in class)


Additional guidelines are in the back of your syllabus.

Notice the equilibrium price is $4.50 or


¥450





Location Advantage:


Location specific factors. These are external to the firm including factor endowment, transportation cost, government regulation, and infrastructure factors.








OLI





Ownership Advantage:


Firm specific factors including: technology, 


patent, process, name recognition,


and other core competencies.





Internationalization:


Cost advantage from vertical and


horizontal integration, due to transaction


cost caused by market failure








� Although often attributed to Ricardo the original description of the idea is said to be found in “Essay on the External Corn Trade” by Robert Torrens (1815).
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